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Coding Decoding Questions Overview

Coding Decoding Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Coding Decoding Questions.

Coding Decoding Questions

Direction: Read the information carefully and answer the following questions. In a family of eight members, there are three
married couples. M is the child of B who is the daughter of Z. L is the sister-in-law of G, who is married to B. N is the
grandson of P who is wife of Z. L is married woman but doesn't have any child. M is the niece of R. R doesn't have any
sibling.

Question

How is R related to N?

Difficulty : Moderate Average Time: 50 Seconds

Options :
1. Paternal uncle

2. Maternal Uncle
3. Father
4. Mother

5. Aunt

Solution

The correct answer is Option 2 i.e. Maternal Uncle.

Understanding
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M is the child of B who is the daughter of Z.

L is the sister-in-law of G, who is married to B.
(So, L can either be the sister of B or L can be
the wife of B's brother).

N is the grandson of P, who is wife of Z.

L is married woman but doesn't have any
child.

M is the niece of R.

Case 1:

Case 2:

R doesn't have any sibling. (So, case 2 will
get eliminated)

Case 1:

Hence, the correct answer is maternal uncle.
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